MAT1505-05 04S Quiz7 Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary),
and use arrows and equal signs when appropriate. Always simplify expressions. BOX final short
answers. LABEL parts of problem. Keep answers EXACT (not decimal approximations, if possible).

= n X2 B xS T x5
£6q = hz_-o &N ;,(n-k-l =X—F+ e -Ftg o

a) Use the ratio test 10 find the radws R of convergence of ths power
series  (( such thek the senes converges for 1M < R and diverges for Ix) >27.
b Chece the endpoim\-s of the open mrerval ~R&x< R for ccavergence 1n

order to state the complete nlenal of onvergence 1 this same netehiaon .
Explain your claims,

<) £(%) is an aternahng seres so you can easily estimate the Hruncation error.
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term  gives the valve of £(¥2) to 3 decimal place accumey? Gwe Sy to af least
d) The eyact value is §(¥%)=ardmn (¥2). \hatis the valve of & decionel places.
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b) x= A %(_Q"—_Z_Iﬁh convergences by the aHem-rhAj cenes test

h=y
X=-1" %C‘D“ L——ﬂh = %_ (—\)nﬂ also convevges bj ald senes test.
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